

208-16
BLUE-MAR

Filters: Start Date - 2/24/2000; End Date - 2/24/2026; Business unit applies to: - Equipment Business Unit; Equipment - 333G JD SKID STEER [8980]

Work Order:	48689	Status:	Transferred
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	11/23/2023
Kms:	N/A	Stop Date:	11/23/2023
Hr:	N/A		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	12.00 RT	Shop Mech Rky	\$49.05	\$588.60
			Total Labor	\$588.60
DOOR LATCH SKID STEER [AT468586]	1.00 Each		(\$113.48)	(\$113.48)
FILTER STRAINER [2822270]	1.00 Each		\$48.39	\$48.39
			Total Parts	(\$65.09)
			Total Equip	\$0.00
			Total Cost	\$523.51

Item ID	Description	Completed By	Reported Hours
89616	8980 - RIG UP	Brittinni Lockard	12.00

Work Order:	56213	Status:	Closed
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Rocky Mountain House Shop	Business Unit:	Machinery
Created by:	Blair MacAulay	Start Date:	
Kms:	N/A	Stop Date:	
Hr:	N/A		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
BLAINE STEFFAN	0.50 RT	Shop Mech Rky	\$49.05	\$24.53
			Total Labor	\$24.53
AT307779[Custom]	1.00 Each		\$154.36	\$154.36
DOOR LATCH SKID STEER [AT468586]	2.00 Each		\$113.48	\$226.96
ISOLATOR [T318849]	1.00 Each		\$64.98	\$64.98
SENSOR AT307779[Custom]	1.00 Each		(\$154.36)	(\$154.36)
			Total Parts	\$291.94
			Total Equip	\$0.00
			Total Cost	\$316.47

Item ID	Description	Completed By	Reported Hours
102873	REPAIR DOOR/WINDOW	Blair MacAulay	0.50

Work Order: 56970
Equipment: 333G JD SKID STEER [8980]
Work Location: Current Equipment Location
Created by: Jeremy Detema
Kms: N/A
Hr: N/A

Status: Closed
Serial Number: 1T0333GKJRF457348
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
JOHN GIBERSON	2.00 RT	Shop Mech Rky	\$49.05	\$98.10
			Total Labor	\$98.10
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$98.10

Item ID	Description	Completed By	Reported Hours
104190	8980 - CHECK OVER	Jeremy Detema	2.00

Work Order: 59633
Equipment: 333G JD SKID STEER [8980]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: N/A

Status: Closed
Serial Number: 1T0333GKJRF457348
Business Unit: Machinery
Start Date: 10/16/2024
Stop Date: 10/16/2024

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	1.00 RT	Shop Lube	\$41.17	\$41.17
			Total Labor	\$41.17
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$41.17

Item ID	Description	Completed By	Reported Hours
108987	0250 Hour Service	Anthony Rodriguez	1.00

- * Sample engine oil.
- * Check all fluids.
- * Complete grease.

Work Order: 59771
Equipment: 333G JD SKID STEER [8980]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: N/A

Status: Closed
Serial Number: 1T0333GKJRF457348
Business Unit: Machinery
Start Date:
Stop Date:

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
AARON SAMUELSON	10.50 RT	Shop Mech Field	\$59.34	\$623.07
			Total Labor	\$623.07
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each		\$30.57	\$30.57
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	1.00 Each		\$17.62	\$17.62
			Total Parts	\$48.19
			Total Equip	\$0.00
			Total Cost	\$671.26

Item ID	Description	Completed By	Reported Hours
109321	8980 - FIX ELECTRICAL FOR TWO WAY	Carla Merklin	10.50

Work Order: 63031
Equipment: 333G JD SKID STEER [8980]
Work Location: Current Equipment Location
Created by: Brittinni Lockard
Kms: N/A
Hr: N/A

Status: Closed
Serial Number: 1T0333GKJRF457348
Business Unit: Machinery
Start Date: 1/27/2025
Stop Date: 1/27/2025

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	2.00 RT	Shop Lube	\$41.17	\$82.34
			Total Labor	\$82.34
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00 Each		\$30.50	\$30.50
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	1.00 Each		\$17.62	\$17.62
FILTER FUEL {JD: MIU802154} [MIU805005]	1.00 Each		\$96.12	\$96.12
FILTER FUEL WF10369 [MIU802421]	1.00 Each		\$52.55	\$52.55
FILTER LUBE SPIN-ON {JD: 46495073, MIU800650} [LF3776]	1.00 Each		\$7.32	\$7.32
			Total Parts	\$204.11
			Total Equip	\$0.00
			Total Cost	\$286.45

Item ID	Description	Completed By	Reported Hours
115299	0500 Hour Service	Anthony Rodriguez	2.00

- * Change engine oil.
- * Change engine filters -- oil and air.
- * Change fuel filter.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	64620	Status:	Closed
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	3/7/2025
Kms:	N/A	Stop Date:	3/7/2025
Hr:	N/A		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	4.00 RT	Shop Mech Field	\$59.34	\$237.36
JOHN BARGEN	5.00 RT	Shop Mech Field	\$59.34	\$296.70
TEVIN FERRIS	8.00 RT	Shop Mech Field	\$59.34	\$474.72
		Total Labor		\$1,008.78
		Total Parts		\$0.00
		Total Equip		\$0.00
		Total Cost		\$1,008.78

Item ID	Description	Completed By	Reported Hours
118313	8980 - TRANS FILTER	Carla Merklin	17.00

Work Order:	67664	Status:	Closed
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	5/26/2025
Kms:	N/A	Stop Date:	5/26/2025
Hr:	N/A		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
J. HAMELIN	0.25 RT	Shop Lube	\$41.17	\$10.29
		Total Labor		\$10.29
		Total Parts		\$0.00
		Total Equip		\$0.00
		Total Cost		\$10.29

Item ID	Description	Completed By	Reported Hours
111753	0250 Hour Service	Charles Hamelin	0.25

- * Sample engine oil.
- * Check all fluids.
- * Complete grease.

Work Order:	70792	Status:	Closed
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Tevin Ferris	Start Date:	7/26/2025
Kms:	N/A	Stop Date:	7/26/2025
Hr:	N/A		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
TEVIN FERRIS	4.00 RT	Shop Mech Field	\$59.34	\$237.36
			Total Labor	\$237.36
SHIPPING COSTS - EQUIPMENT [7540]	1.00 Totl		\$14.95	\$14.95
TOGGLE/ROCY [AT306954]	1.00 Each		\$100.11	\$100.11
			Total Parts	\$115.06
			Total Equip	\$0.00
			Total Cost	\$352.42

Item ID	Description	Completed By	Reported Hours
128805	8980 - No RH Track Movement	Brittinni Lockard	4.00

Work Order:	72487	Status:	Closed
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Hunter Tschetter	Start Date:	8/31/2025
Kms:	N/A	Stop Date:	8/31/2025
Hr:	N/A		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
HUNTER TSCHETTER	9.00 RT	Shop Mech Field	\$59.34	\$534.06
			Total Labor	\$534.06
			Total Parts	\$0.00
			Total Equip	\$0.00
			Total Cost	\$534.06

Item ID	Description	Completed By	Reported Hours
131850	8980 Green Tag Inspection	Brittinni Lockard	9.00

Work Order:	72613	Status:	Closed
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Brittinni Lockard	Start Date:	9/3/2025
Kms:	N/A	Stop Date:	9/3/2025
Hr:	N/A		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
			Total Labor	\$0.00
SHIPPING COSTS - EQUIPMENT [7540]	1.00	Totl	\$14.95	\$14.95
SPRING [T248678]	1.00	Each	\$38.02	\$38.02
			Total Parts	\$52.97
			Total Equip	\$0.00
			Total Cost	\$52.97

Item ID	Description	Completed By	Reported Hours
132151	8980 - REPAIRS	Brittinni Lockard	0.00

Work Order:	74161	Status:	Closed
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	Carla Merklin	Start Date:	10/7/2025
Kms:	N/A	Stop Date:	10/7/2025
Hr:	N/A		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ANTHONY RODRIGUEZ	4.00	RT Shop Lube	\$41.17	\$164.68
			Total Labor	\$164.68
FILTER AIR [AT359416]	1.00	Each	\$37.78	\$37.78
FILTER AIR [AT441536]	1.00	Each	\$39.22	\$39.22
FILTER AIR {CAT: 1106326, JD: KV16429, JD: AT171853, FLG: AF25557} [P828889]	1.00	Each	\$32.44	\$32.44
FILTER AIR {FLG: AF25558, CAT: 1106331, JD: AT171854} [P829333]	1.00	Each	\$20.36	\$20.36
FILTER FUEL {FLG: FF5006, NAPA: NGF3003, JD: AT101565} [P550090]	1.00	Each	\$5.76	\$5.76
FILTER FUEL {JD: MIU802154} [MIU805005]	1.00	Each	\$110.54	\$110.54
FILTER FUEL WF10369 [MIU802421]	1.00	Each	\$48.12	\$48.12
FILTER HYDRAULIC {FLG: HF35299, DON: P174552, AT367635} [AT314164]	1.00	Each	\$90.61	\$90.61
FILTER LUBE SPIN-ON {JD: 46495073, MIU800650, P502051} [LF3776]	1.00	Each	\$8.45	\$8.45
FILTER TRANS HYDRAULIC [AT495722]	1.00	Each	\$170.50	\$170.50
			Total Parts	\$563.76
			Total Equip	\$0.00
			Total Cost	\$728.44

Item ID	Description	Completed By	Reported Hours
134889	1000 Hour Service	Anthony Rodriguez	4.00

- * Change all filters.
- * Change engine oil.
- * Change final drive oil.
- * Change hydraulic oil.
- * Check all fluids.
- * Complete grease.
- * Sample all oils.

Work Order:	77344	Status:	Closed
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	John Giberson	Start Date:	12/22/2025
Kms:	N/A	Stop Date:	12/22/2025
Hr:	1213		

Work Order Cost Summary

Description	Quantity	Labor Type	Rate	Total
ALLAN SUTHERLAND	9.00 RT	Shop Mech Field	\$59.34	\$534.06
			Total Labor	\$534.06
CUTTING BLADE 84" (7') 8 BOLT 3/4 X 2-1/4" [KV12471X]	1.00 Each		\$168.99	\$168.99
FILTER STRAINER SCREEN SKID STEER [2822270]	1.00 Each		\$46.63	\$46.63
H3-4 MINI BULB 24v 70w JTC 121-H3-4 [H34 24v]	2.00 Each		\$4.91	\$9.82
			Total Parts	\$225.44
			Total Equip	\$0.00
			Total Cost	\$759.50

Item ID	Description	Completed By	Reported Hours
140767	8980 Checkover	Brittinni Lockard	9.00

Work Order:	80513	Status:	Scheduled
Equipment:	333G JD SKID STEER [8980]	Serial Number:	1T0333GKJRF457348
Work Location:	Current Equipment Location	Business Unit:	Machinery
Created by:	John Giberson	Start Date:	2/23/2026
Kms:	N/A	Stop Date:	2/23/2026
Hr:	N/A		

Item ID	Description	Completed By	Reported Hours
145615	8980 Sale prep		0.00